oltage[V]

Voltage[V]

Voltage[V]

Veltage[V]

Voltage[V]

—— datal:Q=1.9e+06

—— dataz:Q=22e+06

0.40
0.35 4
0.30 1
0.25 1
0.20 1
0.15 1
0.10 1
0.05 1

0.00 4

—— data3:0=19e+06

20 40 &0 80 100 120

0.20
0.15 1
0.10 1
0.05
0.00

— datad:0=2 3e+06

-0.05 T
o

T T
20 40 60 80 100 120 140

0.25 1

0.20 1

0.15 1

0.10 4

0.05 1

0.00 1

— data5:0=19e+06

—-0.05

time[sec]

Voltage[V]

Voltage[V]

Voltage[V]

030

025

020

015 4

010 4

0.05 4

0.00

—— dataf:0=16e+06

—0.05

time[sec]

a0 100 120

030

025 4

020

015 4

010 4

0.05 4

0.00

— data?:0=2.1e+06

—0.05

0.05

0.00

—0.05

20

020

000

—0.05

time[sec]

a0 100 120

—— datad:0=21e+06

time[sec]

100 120 140

— data9:0=21e+06

20

time[sec]

100 120 140
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